Efficacité de I'acide hypochloreux (HCIO)

e | 'activité inhibitrice ou létale dépend de la quantité de chlore libre disponible (comme acide hypochloreux
HCIO) dans l'eau qui entre en contact avec les cellules microbiennes.

e La dissociation de HCIO dépend du pH, de la température et de la quantité de chlore consommé au
contact de la matiere organique.

¢ Selon le pH de I'eau de source, I'acide hypochloreux subira une réaction compléte ou partielle
dissociation comme suit:

C|2 + H20 > HOCI + H_C:I
HCIO « OCI™ + H”

L'importance de cette dissociation est que I'acide hypochloreux est beaucoup plus agent germicide
efficace que l'ion hypochlorite.

pH | 0C | & [ 1wc [ 1% [ 20°¢ [ 25°C 30°C |
5.0 0085 | 99.82 9080 | 99.79 99.74 | 9971 9968 |
55 | 9953 | 9045 | 9036 | 9927 | 9918 | 9909 | 9900 |
60 | 9853 | 9828 | 9800 | 9773 | 97485 | 9718 9692 |
6.1 9816 | 9784 | 9750 | 9716 9682 | 9648 96.15 |
6.2 9769 | 9720 | 9688 | 9645 9602 | 95.60 95.20
63 | 9711 | 9662 | 9610 | 9557 | 0505 | 0453 94.04
6.4 9639 | 9578 | 9514 | 9449 9384 | 0321 | 9261
65 | 90550 | 0475 | 9396 | 9316 | 9237 | 9160 00.87
| 66 | 9440 | 9347 [ o251 | o154 | 9058 | 8965 | 8878
67 | 9305 | 0192 | 0075 | 8058 | $843 | 8732 $6.27
6.8 0141 | 9003 | 8863 | 87.23 8585 | 8454 | 8331 |
69 | se42 | 8777 | 8610 | 8443 8282 | 8129 | 7986 |
70 | 8704 | 8508 | 810 [ s16 [ 7920 | 7753 | 7590 |
75 [ 6799 | 6433 | 6088 | 5768 | 5477 | 518 | 4990 |
8.0 4018 | 3632 | 3208 | 3012 27.69 | 2365 2305 |
85 | 1S | dsa | D6 | 1199 | 1% | 981 | 006 |
90 | 620 | 53 | 460 | 413 | 360 | 333 | 305 |
10.0 0.67 | 057 049 | 043 038 | 034 031 |

Efficacy of Hypochlorous Acid

e Inhibitory or lethal activity depends on the amount of Free Available Chlorine (as Hypochlorous
Acid, or HOCL) in the water that comes in contact with microbial cells.
e The dissociation of HOCL depends on pH, temperature, and the amount of chlorine that is
consumed on contact with the organic matter.
e Depending on the pH of the source water, the Hypochlorous acid will undergo complete or partial
dissociation as follows:

CL;+ H,O HOCL + HCL

HOCL H" + OCL"

The significance of this disassociation is that Hypochlorous acid is a much more effective
germicidal agent than the Hypochlorite ion.



